
Défi IESO 2021 - Janvier 

 
 
 

1 
 

Préparation IESO 2021 

Défi 3 – Janvier – Correction 

 

This challenge is a multiple-choice question on astronomy, and is written in English to help you 

practice.  

There are 20 questions; a right answer gives you 1 point, and a wrong one gives you -0,4 point. 

There can be multiple answers to one question. For some questions, a letter is indicated at the 

end of each line. Find all the right answers and the letters will form a word that indicates the 

topic of the next challenge! 

 

GENERALITIES 

 

1. The amount of light that a telescope can collect is limited by the telescope's... 

A)  chromatic aberration. 

B)  focal point. 

C)  aperture. 

D)  eyepiece. 

 
Explications :  

L’aberration chromatique est une aberration optique qui produit différentes mises au point en fonction de la 

longueur d'onde. On observe alors une image floue aux contours irisés. 

L’ouverture correspond à la largeur de l’objectif. 

 

Source : http://www.lerepairedessciences.fr 

 

2. What is the correct term for the time taken for any object in the Solar System (such as the 

Moon) to return to the same position relative to the Sun as seen from Earth?  

A)  year 

B)  solar time 

C)  sidereal period 

D)  synodic period 

 
Explications :  

Année : temps que met la Terre pour faire un tour complet autour du Soleil. 

Temps solaire (vrai) : angle horaire du soleil en un lieu et à un moment précis. 

Période sidérale : temps mis par un astre pour faire un tour complet autour d’un autre astre. 

Période synodique : temps mis par un astre pour revenir à la même configuration Terre-astre-Soleil 
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3. The color of a star is mainly due to its ... 

A)  surface temperature. 

B)  composition. 

C)  distance. 

D)  twinkling. 

 

4. The diagram on the next page shows the Hertzprung-Russell diagram (H-R diagram) with 

six positions (A – F) indicated. The y-axis is given in terms of Solar Luminosity (L⊙) and x-

axis gives effective surface temperature (T) of stars in Kelvin. In this diagram: 

A)  C has the largest diameter, A and E have the same spectral class but different 

luminosities, and D is primarily burning Hydrogen. 

B)  B has the largest diameter, D and F have the same spectral class but different 

luminosities, and A is primarily burning Hydrogen. 

C)  D has the largest diameter, A and C have the same spectral class but different 

luminosities, and B is primarily burning Hydrogen. 

D)  E has the largest diameter, B and F have the same spectral class but different 

luminosities, and C is primarily burning Hydrogen. 

 

T 

Figure Q4: Hertzprung-Russell diagram 

 

Explications :  

Plus une étoile est grosse, plus la luminosité qui nous parvient sera intense.  

La température de surface de l’étoile étant à l’origine de la couleur que nous percevons, deux étoiles ayant la même 

classe spectrale auront donc une température de surface similaire.  

Les étoiles situées sur la courbe noire du diagramme sont celles qui brûlent principalement de l’Hydrogène. 
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5. On the following image, you can see the constellations… 

A)  Orion, Leo and Virgo. (c) 

B)  Andromeda, Delphinus and Lepus. (f) 

C)  Virgo, Lepus and Draco. (o) 

D)  Andromeda, Hydrus and Leo. (a) 

 

Figure Q5: a map of constellations 

 

6. A superior planet can be seen to retrograde when it is near... 

A)  conjunction. 

B)  quadrature. 

C)  opposition. 

D)  the Moon. 

Explications :  

Une planète est rétrograde lorsqu’elle semble décrire un mouvement de recul lors de son observation par rapport 

aux étoiles lointaines. 

 

Source : https://promenade.imcce.fr 
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7. The star Alpha Centauri is approximately 4.0x1013
 km away from Earth. If Alpha Centauri 

moves closer like the Moon (about 4.0 x105
 km away), about how much brighter is Alpha 

Centauri than before? 

A)  108 times (f) 

B)  1012 times (h) 

C)  1016 times (y) 

D)  1024 times (e) 

Explications :  

La relation entre la distance à la Terre d’une planète et la luminosité perçue dépend d’un facteur carré. Lors d’un 

tel rapprochement, la luminosité d’Alpha du Centaure apparaîtrait donc : (1013 - 105)² = 1016 fois plus brillante. 

 

 

PLANETS 

 

MARS 

 

8. Mars, like the Earth, has different seasons during the year (summer, autumn, winter and 

spring). Which ones of the following parameters could explain the existence of seasons on 

Mars?  

A)  Ellipticity  

B)  Distance to the Sun  

C)  Angle of rotation axis  

D)  Precession angle  

E)  Tides  

F)  Existence of 2 moons  

G)  Magnetic field  

H)  Solar storms  

 

9. The photography below is an image of sand dunes at the surface of Mars. Which one(s) of 

these propositions is/are a good interpretation of the photography? 

NB: the width of the photography is approximately 4 km. 

 

A)  The wind was coming from the right side of the photography. 

B)  The wind was coming from the left side of the photography. 

C)  Wind erosion processes are active on the surface of Mars. 

D)  Water erosion processes are active on the surface of Mars. 

E)  Wind deposition processes are active on the surface of Mars. 

F)  Mars used to have an atmosphere. 

G)  Water deposition processes are active on the surface of Mars. 

H)  Mars currently has an atmosphere. 

I)  Mars currently has a hydrosphere. 
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J)  Mars used to have an atmosphere. 

K)  Meteoritic erosion processes are active on the surface of Mars. 

L)  Interactions hydrosphere-geosphere used to take place on the surface of Mars. 

M)  Interactions atmosphere-geosphere used to take place on the surface of Mars. 

 

 

 

Figure Q9: sand dunes at the surface of Mars 

Explications :  

La forme des dunes indique qu’il s’agit de dunes éoliennes. Et qui dit vent, dit atmosphère présente ! La forme des 

dunes renseigne également sur le sens du vent : 

 

Source : https://planet-terre.ens-lyon.fr/ 

Ces dunes se forment par accumulation de sable, composé de grains arrachés à des roches solides situées à la 

surface de Mars. Il y a donc bien des processus d’érosion et de dépôt actifs sur Mars. 

La photo montre également des traces de cratères, indiquant que des météorites sont tombées sur Mars. 

La dernière proposition (M) est piégeuse : elle suppose que les interactions atmosphère-géosphère se sont arrêtées, 

ce qui n’est pas le cas. Si la proposition était rédigée au présent, alors elle serait vraie. 
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THE MOON 

 

10. The drawings below were drawn by Galileo Galilei. Notice the light spots in the darker 

zones (white arrow) and the dark spots in the lighter zones (black arrow). Galileo observed the 

lighter spots grow during the month and concluded that they are mountains. He also concluded 

that darker spots are shadows in a lower topography. 

Which one of the following phenomena contributes to the phases of the Moon? 

A)  The Earth hides the light from the Sun and projects its shadow on the Moon. (b) 

B)  The rotation of the Moon around its axis. (a) 

C)  The rotation of the Moon around the Earth. (c) 

D)  The rotation of the Earth around the Sun. (h) 

 

 
Figure Q10: drawings of the Moon by Galileo Galilei 

Explications :  

Les phases de la Lune sont dues au fait que la partie illuminée de la Lune est vue sous différents angles depuis la 

Terre. 

 

 

11. Which one of these propositions explains why only one side of the Moon is visible from 

Earth ? 

A)  The Moon rotates around the Earth at the same speed that the rotates around its 

axis. 

B)  The hidden side of the Moon is made of rocks with a low albedo. 

C)  Only one side of the Moon faces the Sun. 

D)  Density and gravity of the Moon influence its rotation and its orbit. 
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12. Which one of the following affirmations can explain the high amount of impact craters on 

the Moon compared with the Earth? 

A)  There is no atmosphere on the Moon. 

B)  The dense magnetic field of the Earth protects it from meteoritic impacts. 

C)  The low density of the Moon attracts space objects. 

D)  The orbit of the Moon crosses paths with more asteroid-rich regions than Earth. 

 
Explications :  

En rentrant dans l'atmosphère d’une planète, les météorites subissent des frottements très importants qui les portent 

à haute température et finissent par les réduire en poussières si leur taille ne dépasse pas une certaine limite. Ainsi, 

l’absence d’atmosphère sur la Lune ne lui permet pas de bénéficier d’une telle protection. 
  

 

VENUS 

 

13. Based on the two following images, which one(s) of the following affirmations can explain 

the low amount of impact craters on Venus compared with the Moon? 

A)  The atmosphere of Venus is thick and impacts its surface. (f) 

B)  The orbit of Venus does not cross paths with asteroid-rich regions. (e) 

C)  The surface of Venus has been eroded. (i) 

D)  Magmatic activity covered traces of ancient craters. (l) 

E)  The magnetosphere and the atmosphere of Venus interact with one another. (c) 

 

 
 

Figure Q13a: shiny shades indicate high altitudes and darker shades indicate low altitudes. 

This image shows the scarcity of impact craters on Venus compared with the Moon. 
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Figure Q13b: this photography has been shot by the probe Venera-13 and shows the basaltic 

surface of Venus. 

Explications :  

La pression atmosphérique sur Vénus est très forte : elle est de 90 bars, soit presque 90 fois plus forte qu’à l’air 

libre sur Terre. Cependant, cela ne suffit pas à impacter sa surface. Vénus est par contre une planète très chaude 

(il fait environ 465 °C à sa surface !), et a une forte activité magmatique qui permet de renouveler sa croûte 

rapidement. 

 

ENCELADE 

 

 
Figure Q14: the dimensions of Encelade are 513,2 km x 502,8 km x 496,6 km 
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14. What can be learned from the observation of surface structures on Encelade? 

A)  The crust is active. 

B)  The crust is static. 

C)  There are plates boundaries on Encelade. 

D)  There were recent meteoritic impacts on Encelade. 

E)  There is no proof of recent meteoritic impacts on Encelade. 

F)  There is a hydrosphere on Encelade. 

 

Explications :  

La photo d’Encelade montre que sa surface est recouverte de plaques de glace, dont les limites apparaissent plus 

bleues que le reste. La présence de plaques indique donc que cette croûte est active.  

La présence de cratères bien formés à la surface d’Encelade indique que des impacts météoritiques ont eu lieu 

récemment. 

Attention, en se basant uniquement sur la photo, rien n’indique qu’il s’agit de glace d’eau, même si de plus amples 

mesures ont prouvé que c’est bien le cas. Encelade cache même un océan liquide sous sa croûte de glace, et les 

chercheurs se demandent s’il ne pourrait pas abriter la vie ! 

 

15. What could explain local temperature differences on the surface of Encelade? 

A)  The intensity variation of solar radiations depending on the latitude. (e) 

B)  The entrapment of thermal energy by the atmosphere of Encelade. (t) 

C)  The release of heat from the depths by processes of crust formation in some regions. (d) 

D)  Subduction zones being colder than expansion ones. (h) 

 

 

EARTH 
 

16. When vascular plants evolved, during the upper Paleozoic (350 Ma), the continents began 

to cover in forests. Before 350 Ma, they were covered in sand. A direct result of vegetation on 

continents is the change of albedo (reflexion at the surface of the Earth, for example an albedo 

of 0.4 means that 40% of the solar energy is reflected towards space): the albedo of a sand 

desert is 0.4 and that of a forest is 0.15. Which one of these affirmations is correct? 

A)  Earth assimilates more solar radiations since 350 Ma. (s) 

B)  Earth assimilates less solar radiations since 350 Ma. (r) 

C)  The whole system will collapse because of temperatures too high. (z) 

D)  The whole system will collapse because of temperatures too low. (b) 

 
Explications :  

Un albédo plus faible indique que moins de radiations solaires seront renvoyées, et donc que la Terre assimilera 

plus de ces radiations. La Terre est un système résilient, rien n’indique que le système va s’effondrer. 
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17. Based on the indications given in the previous question, suppose that oceans cover 70 % of 

Earth’s surface with an albedo of 0.1, and continents cover the remaining 30 %. After 350 Ma, 

which one of these proposals is correct? 

A)  Solar radiation absorbed by Earth’s surface will rise by 7 %. 

B)  Solar radiation absorbed by Earth’s surface will decrease by 7 %. 

C)  Solar radiation absorbed by Earth’s surface will rise by 30 %. 

D)  Solar radiation absorbed by Earth’s surface will decrease by 30 %. 

 

Explications :  

Comme indiqué dans la question précédente, la quantité de radiations solaires assimilées va augmenter. La partie 

océanique de la Terre ne change pas d’albédo, pour répondre à la question il faut donc se concentrer sur la partie 

continentale, dont l’albédo varie de 0,4 - 0,15 = 0,25. Les continents occupent 30 % de la surface, la quantité de 

radiations solaires absorbées par la Terre augmentera donc de 0,25 x 30 = 7,5 %, arrondis à 7 %. 

 

18. The duration of spring and summer in the southern hemisphere of Earth is 178.7 days, whilst 

the duration of autumn and winter is 186.5 days (the opposite is valid for the northern 

hemisphere). This apparently strange fact is related to: 

A)  The magnetic field of the Sun that affects the velocity of the Earth when it approaches 

the perihelion. 

B)  The fact that the Earth changes its velocity in accordance with Kepler’s Second 

Law. 

C)  The precession of the Earth. 

D)  The Earth is in its perihelion in July. 

 
Explications :  

La seconde loi de Kepler, ou loi des aires, stipule que « des aires égales sont balayées dans des temps égaux ». 

Cela implique que lorsque la Terre est au plus près du Soleil (à son périhélie), sa vitesse est maximale ; au contraire, 

lorsque la Terre est au plus loin du Soleil (à son aphélie), sa vitesse est minimale. Or, actuellement la Terre est à 

son périhélie début janvier et à son aphélie début juillet. La Terre est donc plus rapide sur son orbite en janvier 

qu’en juillet, i.e. l'hiver est plus court que l’été. 

La précession correspond à la rotation de l’axe de la Terre :  

Source : https://icalendrier.fr/ 

  

 

19. If you were at the North Pole, Polaris would be... 

A)  at your zenith. 

B)  at your northern horizon. 

C)  below the horizon. 

D)  it depends on the time of day. 
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20. If your latitude is 30, what is the most southerly declination of a star to be circumpolar? 

A)  +90 

B)  +60 

C)  +30 

D)  -30 

 

Explications :  

La déclinaison d’une étoile correspond à l’angle entre sa position et l’équateur. Une étoile est circumpolaire si elle 

ne se couche jamais à l’horizon. 

Dans cette question, l’observateur se trouve à une latitude de 30 °. Pour trouver la déclinaison d’une étoile 

circumpolaire, il faut tracer la tangente à cette position et se rappeler que la somme des angles d’un triangle fait 

180 ° : 

 

L’angle recherché fait donc 180-(90+30) = 180-120 = 60° 

 

 

Theme of the next challenge: CYCLES 

 


